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Measure of an exterior angle of an
equilateral triangle is:

Q @2 O 4o

?{__U/,.S.'i‘d_b‘.’:(b,.agé: (-4, 2) 2 (4,2)

©2) .

. 60° 120° 180° 360°
v?t-n&l’,;udwrbu:vmd,u O
In AABC if msA=60°, mLB=45° At the mid of
then the three right bisectors of the Inside the Outside the S the shortest
10, Sides lie: ‘ O triangle O triangle At the vertex side
7 mdA=60°, mLB =45 LABCeL ] s Ll Iy LFl A
St Lo LAY (il
In AABC if mdA=80°, mLB=40°
and msC =60° then the longest ‘
11. segmentis: O B O BC ac Median
) LA =80°, msB =40° LABCEES S s
?%L;ufb;gwa._./; m£LC =60°
What is the value of (x)?
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Which triplet of the following are the - ,
side measures of a right triangle? - " o
13. : : 13,4 - 1,2,45 1,2,3- 11,1
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Medians of a triangle intersect each
- ptherin ratio: - ' - T
14. - ) 2 2: 2:3 3:
Y{ﬂ.&[&?a.wff;/uw{fé,bjéw O -0 I , 12
"What is the mid-point of the line
segment joining (4,2) and (-4,2} 7 ‘
g, Segment] g (4.2) and(-4.2) o
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ML
MATHEMATICS SSC-|

(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be provided on demand.

_ SECTION - B {Marks 36)
Q.2 Attempt any NINE parts. All parts carry equal marks. (9x4=36)

0) Find the values of x and p if -a[l _2}2[2 _y]{l 2}
3 x -1 2|7 =2

(i) Simplify 3; 2f and write the answer in the form o+ 5
+i

. \ xp(qfr) %7 '

(iii) . Simplify W{x—f’]

{iv) Find xif log,(x* +1)=2
(v} f x=2+43 , find the values of x+l and x--l—
X X

{vi) Factorize the expression p* - x* +2x-1.
(vii) Find the HCF of x*+2x-8 x*-2x-24 and x* +5x+4 by factorization.

(vii)  Solve the inequality %Ji--;-(n y)s%y—é-(!i- ) where yez

(ix) Solve:

5

(x) Draw the graph of 4x-2y+6=0 by taking at least four ordered pairs.

{xi} Using distance formula, show that points 4(1,2),8(2,3) and C(3,4) are collinear.
(xii) Any point on the bisector of an angle is equidistant from its arms. Prove it.
{xii)  In A4BC, internal angle bisector of z4 meets CB at the point D such that

7xﬂ4‘=2

mBD :mDC = mAB:mAC . Find the value of x . A

(xiv)  In A4BC DE| AB and fﬁf=%ﬂ _find the values of x andy.

SECTION - C (Marks 24)

Note: Attempt any THREE questions. Al questions carry equal marks. (3x8=24)

Q.3 Solve the system of linear equations 2x+5y=-2, 4x+ 7y =2 by using the matrix inversion method.
Q.4  Show that the points 4(-6,-2), B(1,-2), C(4,3) and D(-3,3) are the vertices of a parallelogram.
Q.5 Solve the system of linear equations 2x+3y = 5, x+ 2y =2 by using the graphical method.

Q.6 If two angles of a triangle are congruent, then the sides opposite to them are also congruent. Prove it.
Q.7 From the following data, construct a triangle ABC. Draw two perpendicular bisectors of any two sides of the
triangle. Write the construction steps also. m4B = 6em, mZ4 = 60°, m£LB = 45°
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